AC... X

Kop 027 036 048 060 072 084 096 12
Pa6ouunn
oBLEM cm | 122 | 1.63 | 218 | 2.72 | 3.27 | 3.81 | 4.36 | 5.7
Homunanebhoe | g, | 975 | 175 | 175 | 175 | 175 | 175 | 120 | 125
AaBlieHue
Makc.
[aBneHue Bar | 200 200 200 200 200 170 150 | 150
MuH. yacToTa Min
BpaLieHNs 1 650 | 650 650 | 650 | 650 | 650 | 650 | 650
Makc. yactora Min
BpalLeHNs 1 3500 | 3500 | 3500 | 3500 | 3500 | 3500 | 3500 | 3500
68
e AC)..X 9.4 A(C)...XT(XTM; XTM1)
€ & el
[y 10,9 2 ™~
o g3 - tn{ N =
N4 | ) b N
o 1]
[o}] p—
2 # S e e 3
"G M 14 -
F7 1.8 3| Le=1:8 )
4
&
26,2 13.5
Bxon 52,4 A WX -CTAHOAPTHOE NCMNONHEHUE
B .. XT -TPYBHAA PE3bBA (BSP)
... XTM -METPUYECKAA PE3bBA
Pasmepsbl
Paboyunn
Kon 00bEM A B Bxon
E | d | F | M |G| E | d | F | M G
cM*/06 mm mm “ mm “
A(C)027X... 12,2 31 69 30,2 M6 13 M16X1,5 | G3/8] 35 | M6 | 13 | M16X15 | G23/8
A(C)036X... 1,36 32 71 30,2 M6 13 M16X1,5 [G3/8] 35 | M6 [ 13 | M16X15 | G3/8
A(C)048X... 2,18 32 71 30,2 M6 13 M16X1,5 | G3/8| 35 | M6 | 13 | M16X15 | G23/8
A(C)060X... 272 32 71 30,2 M6 13 M16X1,5 [G3/8] 35 | M6 | 13 | M16X15 | G3/8
A(C)072X... 3,27 36 78 30,2 M6 13 M20X1,5 | G3/8] 35 | M6 13 | M16X1,5 | G3/8
A(C)084X... 3,81 36 78 30,2 M6 13 M20X1,5 | G3/8| 35 | M6 | 13 | M16X15 | G3/8
A(C)096X... 4,36 36 78 30,2 M6 13 M20X1,5 | G3/8] 35 | M6 | 13 | M16X15 | G3/8
A(C)12X... 57 40,8 87,8 30,2 M6 13 M20X1,56 [G3/8] 35 | M6 | 13 | M16X156 | G3/8

www.ostec-pg.ru | Ten.: (495) 788 4444, no6. 6515, 6580; chakc: (495) 788 4442 35



